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Simulated Test One

Part 1 Listening Comprehension

(20 minutes)
Section A
Directions . In this section, you will hear 10 short conversations.
At the end of each conversation. a question will be asked about
what was saitd. Both the conversation and the question will be
spoken only once. After each question there will be a pause.
During the pause, you must read the four choices murked A),
B), C) and D), and decide which is the best answer. Then mark
the corresponding letter on the Answer Sheet with a single line
through the centre.
Example: You will hear:

You will read :

A) At the office. B) In the waiting room.

C) At the airport. D) In a restaurant.

From the conversation we know that the two were talking
about some work they had to finish in the evening. This is most
likely to have taken place at the office. Therefore. A) “At the
office” is the best answer. You should choose LA on the Answer
Sheet and mark it with a single line through the centre.

Sample Answer TAT [B] [C] [D]
1. A) A chef. B) A repairman.
C) A hairdresser. DY A waiter.
2. A) She would rather watch television than go to the theater.
3



B) She doesn’t like to go out in the evening.
() She’s never been to the theater before she goes out.
D) She wants to watch same television before she goes out.
3. A) He is not very enthusiastic about his English lessons.
B) He has made great progress in his English.
C) He is a student of the music department.
D) He is not very interested in English songs.
4. A) In a department store. B) In a car.
C) On a train. D) In a shoe shop.
5. A) Forget them until later.
B) Go over them right away.
C) Move them away from the tea cup.
D) Discuss them with Professor Lee.
6. A) Because he didn't like the color.
B) Because it was too small.
C) Because it was too big.
D) Because it was too expensive.
7. A) 10 minutes later. [3) 20 minutes later.
C) 30 minutes later. D) 10 minutes later.
8. A) The man will work with someonc else.
B) The man must complete some paperwork.
C) The man’s application is lost for the moment.
D) The man is not qualified for the job.
9. A) The machine should be cleaned.
B) He ought to have made fresh coffee.
C) This kind of coffee isn’t sold anymore.
D) The machine ought to be replaced.
10. A) He wonders about the usefulness of the protest.

B) He thinks the present tax is fair.



C) He doesn’t know how many citizens protested.
D) He doesn’t know how much the government charges for

tax.

Section B

Directions: In this section, you will hear 3 short passages. At the

end of each passage, you will hear some questions. Both the

passage and the questions will be spoken only once. After you hear

a question, you must choose the best answer from the four choices

marked A), B)s C) and D). Then murk the corresponding letter

on the Answer Sheet with a single line through the centre.

Passage One

Questions 11 to 14 are based on the passage you have just heard.

11.

12.

13.

14.

A) The doctor guilty of murder.

B) The family guilty of elder abuse.

C) The family guilty of doctor abuse.

D) The doctor guilty of elder abuse.

A) Other patients wouldn’t have to suffer so much pain.

B) They would make a lot of money.

C) Their father could be cured.

D) Other doctors would follow the same practices.

A) Because they felt the doctor wouldn’t listen anyway.

B) Because they felt the patient already had enough
medication.

C) Because they trusted the doctor and thought he knew
best.

D) Because they were afraid of the side effects.

A) Nothing.

B) Around 250 thousand dollars.



C) One-and-a-half million dollars.

D) Two million dollars.

Passage Two

Questions 15 to 17 are based on the passage you have just heard.

15.

186.

17.

A) The origin of fire.

B) The power of fire.

C) Man’s knowing fire.

D) Making bronze by fire.

A) By making a tool with a sharp edge.

B) By his powers of thinking.

C) By worshipping it.

D) By avoiding using it.

A) Rock and copper. B) Copper and tin.
C) Copper and iron. D) Rock and iron.

Passage Three

Questions 18 to 20 are based on the passage you have just heard.

18.

19.

20.

A) In a travel agency. B) In a post office.
C) In a park. D) In a bank.
A) He sends Christmas cards to his sister’s family.

B) He visits his sister.

C) He invites his sister’s family to his house.

D) He brings birthday presents to Mark.

A) Mr. Dodds had forgotten to pay an important bill.
B) Mr. Dodds had made a mistake in his work.

C) The policeman came to inquire into a traffic accident.

D) The policeman came to pay a visit to his uncle.



Part 1 Reading Comprehension

(35 minutes)
Directions: There are 4 passages in this part. Each passage is
Jollowed by some questions or unfinished statements. For each of
them there are four choices marked A), B), (') and D). You
should decide on the best choice and murk the corresponding letter
on the Answer Sheet with a single line through the centre.
Questions 21 to 25 are based on the following passage:

Coming to New York City from his native Massachusetts,
Bryant began working on the New York Review, and a few years
later became an editor with the New York Evening Post. He was
to remain with the latter newspaper for fifty years, during most
of that time as editor-in-chief and part owner. Apart from his
fame as a poet, Bryant merits a reputation as one the great
editors of American Journalism. He supported such causes as
free speech, free trade, and the abolition of slavery. When
Abraham Lincoln came to New York in 1860 to make his famous
Cooper Union speech, which greatly increased his chances for
the Presidential nomination, Bryant presided at the meeting and
introduced the Illinois politician, who was then little known to
the New York public.

Greater poets than Bryant were to follow, but none
possessed more of the quality of serene and noble imaginative
power. “To a Waterfowl” is perhaps the peak of his work.
Mathew Arnold, the eminent English critic and poet, called it
the “most perfect brief poem in the language”.

The finest of Bryant’s poems were written in his youth,
before Bryant felt the pressures of his career in journalism.
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Nevertheless, he continued to write poetry throughout much of
his life, publishing a number of volumes. Among his most
important later works are his translations of the lliad and the
Odyssey into English verse. As Irving had shown that American
prose had come of age, so Bryant demonstrated to European
readers that American poetry was ready to demand serious
attention. He was the first American to gain the stature of a
major poet.
21. According to the passage the statement that _ is true.
A) William Cullen Bryant had been editor-in-chief and part
owner of the New York Review for fifty years
B) William Cullen Bryant worked on the New York Evening
Post for fifty years
C) William Cullen Bryant worked on the New York Review
for fifty years
D) William Cullen Bryant first worked on the New York
Evening Post and then the New York Review
22. Bryant .
A) was a famous poet
B) supported just causes
() was one of the great editors of American journalism
D) all of the above

23. Abraham Lincoln became President of America

A) in 1860 B) in 1859
C) after 1860 D) before 1860
94. Mathew Arnold called  the “most perfect brief poem

in the language”.
A) “To a Waterfowl”
B) Bryant



C) greater poets than Bryant
D) the imaginative power
25. We can safely infer from the passage that

A) Irving, like Bryant, was a famous poet

B) it was Bryant who first called European readers to pay
serious attention to American poetry

C) Bryant followed Irving’s example to demonstrate to
European readers that American poetry was ready to

demand serious attention

D) the Iliad and the Odyssey were two of Bryant’s poems

Questions 26 to 30 are based on the following passage:

If you do not use your arms or legs for some time, they
become weak; when you start using them again, they slowly
become strong again. Everybody knows this, and nobody would
think of questioning this fact. Yet there are many people who do
not seem to know that one’s memory works in the same way.
When someone says that he has a good memory . he really means
that he keeps his memory in practice by exercising it regularly,
either consciously or unconsciously. When someone else says
that his memory is poor. he really means that he does not give it
enough opportunity to become strong. The position is exactly
the same as that of two people. one of whom exercises his arms
and legs by playing tennis, while the other sits in a chair or a
motor all day.

If a friend complains that his arms are weak, we know that
it is his own fault. If he tells us that he has a poor memory.
many of us think his parents are to blame, or that he 1s just
unlucky. and few of us realize that it is just as much his own
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fault as if it was his arms or legs that were weak. Not all of us
can become extremely strong or extremely clever; but all of us
can, if we have ordinary bodies and brains, improve our strength
and our memory by the same means — practice.

Have you ever noticed that people who cannot read or write
usually have better memories than those who can? Why is this?
Of course, because those who cannot read or write have to
remember things; they cannot write them down in a little
notebook. They have to remember dates, times and prices,
names, songs and stories; so their memory is the whole time
being exercised.

So if you want a good memory, learn {from the poor and
humblie ; practice remembering.

26. How does a person do to keep a good memory?

A) By exercising his arms or legs regularly.

B) By giving his memory opportunity to become strong.

C) By exercising his memory regularly.

D) By sitting in a chair or a motor all day.

27. If a {riend complains that his memory is poor. we know it is

fault.
A) his own B) his parents’
C) his arms’ or legs’ D) his luck’s

28. According to the author, who usually have better memories?
A) Those who are talented in memorizing things.
B) Those who cannot read or write.
C) Those who have ordinary bodies.
D) Those who always exercise his arms and legs.
29. What should you do if you want a good memory?
A) To go in for as many sports as possible.
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